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1. gl gdueM 3199 U UH UN 31UAT AHIh ITardd: forg |

Candidate must write first his/her Roll No. on the question paper

compulsorily.
2. T U B B fard g |
All the questions are compulsory.
3. U U BT IR al g IR YRABT H & for |
Write the answer to each question in the given answer-book only.

4. 59 vl & dRe WS 8 SHd SN Udh il &l ford |

For questions having more than one part, the answers to those parts are to

be written together in continuity .
5. U9 BT IR foa-l | gd U BT hHid 37azy ofdd |

Write down the serial number of the question before attempting it.

6. U UF & Bl 9 IS HURRY H (Bl UbR &I Ffe /3R /
foRIEmT 89 R 3=l 9N & UST &I Hel q9 |

If there is any kind of error/difference/contradiction in Hindi & English

version of the question paper, the question of the Hindi version should be
treated valid.
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SECTION-(A)

Igfahedtcid U (i xviii TD)
Multipe Choice Question (i to xviii )

(1) (i) ST¥ YR & 7 Hd G949 error 37l g ar Exception &M ............. %
(1) Created (9) Asserted
(&) Triggered () Raised

When an error occurs during the execution of a Program, an exception is said to

have been .........cccceviieenn. :

(a) Created (b) Asserted

(c) Triggered (d) Raised

(i) Readlines( ) HeTS ATTRT QT B ...oooeostiersseensiion %
(ar) String (3) List

(&) Dictionary () Tuple

Readlines( ) method returnc...............cccoveeeeeeennnn,

(a) String (b) List

(c) Dictionary (d) Tuple

(iii) Stack & ==& elements T TOP & TS+ &7 ®&d © | %
(e1) POP (&) PUSH

(@) INSERT (g) (a) (and (b) both

.............. adds a new element at the TOP of the stack.

(a) POP (b) PUSH
(c) INSERT (d) (a) (and (b) both
(iv) | Storage fSarsd 2 | %

(31) Hard disk (#) SSD



(@) Pen drive (g) all of the above

Commonly used storage devices.

(a) Hard disk (b) SSD
(c) Pen drive (d) all of the above
(v) /91 5 &1 STeed @ 7 © — %

(31) ST aRdAfdd G & BE Yse B YT Bl & | for A aee o
HEI ST 2 |

(3) 7T faftre Sgewg @ fow ST I fSONMg &A1, a9 T AR FUg fhar Sirar |
(¥) T fosil ¥ MaR SR Sifeerdr &7 81 Ahdr © |

() SWRIad I |

Which of the following properties belong to the database?

(A) A database is a representation of some aspect of the real world also called mini
world.

(B) It is designed, built and populated with data for specific purpose.

(C) It can be of any size and complexity

(D) All of the above.

(vi) SQL ¥ &% HHTUS & gl HAYE & Uil bl gl o bl @ | %
(31) Alter Table (d) Modify Table
() Change Table (@) Hide Table

In SQL, which command is used to change a table's storage characteristic?

(a) Alter Table (b) Modify Table
(c) Change Table (d) Hide Table
(vii) Computer Network & A

(31) I8 HIER B TSI AR IHD TCHI BT HIUT ¢ |

(9) I8 HOR o9 §RT IR¥R I3 U ¢ |
(W) ameE! iR gEesi &I AR HRA @ AN T © |



(T) SURIad T |

A computer Network-

(A) It is a collection of hardware components and Computer?
(B) It is interconnected by communication channels.

(C) Allows sharing of resources and information

(D) All of the above

(viii) Bandwidth T HTUT SITAT ©— %
(31) Byte per second (9) Bit per second
(M) Hertz (?) Amperes

Bandwidth is measured in -

(a) Byte per second (b) Bit per second
(c) Hertz (d) Amperes

(ix) T Malware @1 UgaTd & Sl fhdl HhHUT & ARIA | Ui a1 Fell= T2l
AT B | %
() Trojans (d) Worms

() Rootkits (&) Virus

Identify the malware which does not replicate or clone through an infections

(A) Trojans (B) Worms

(C) Rootkits (D) Virus

[ I Ud Python object © ST U error &I Ygf¥d &xdr & | %
(31) Interpreter (d) Compiler

() Exception (?) Module

..................... is a python object that represents an error

(A) Interpreter (B) Compiler
(C) Exception (D) Module

(xi) Stack 7T # & e 9199 T TFARVT HRAT & %
(37) FIFO () LIFO

() FILO (g) LILO

Stack follows :-



(A) FIFO (B) LIFO

(C) FILO (D) LILO

(xii) Stack 31X Quene QI A &R & foly b ST AXaT &1 SUANT fhar ram 2 |
%

(37) Stack (9) Array

(d) Quene (€) Deque

Which data structure can be used to implement both stack and quene

(A) Stack (B) Array

(C) Quene (D) Deque

(xiii) Hash TTfTdT H ST9 QT elements % &1 Slot Hmap 81 & @l S Hal offdl & | %

(31) collision (9) Sorting

(d) Searching (%) Merging

When two elements map to the same slot in the hash table it is called.

(A) collision (B) Sorting

(C) Searching (D) Merging

(xiv) T30l T & AUE I BT ORI @A § W A1 GAAaRId &R B Ufhar ol

HET ST 2 | %

(31) Searching (9) Sorting

(d) Rearranging (%) Merging

The process of placing or rearranging a collection of elements into a particular

order is known as

(A) Searching (B) Sorting

(C) Rearranging (D) Merging

(xv) g9 9 S H [8, 9, 10, 8, 7, 6] 3 U< &y | S 3l HT 9ga1d 8N %

(31) 8 ()9

(|) 7 () 10

Mukesh Score marks [8, 9, 10, 8, 7, 6] in test. Mode of these given marks
(A) 8 (B)9



(C)7 (D) 10

(xvi) FF=ferRaa & & 9T e BIeT Jedd ¢ | %
(&) WAN (@) MAN
(9) LAN () None of the above

Which of the following is the smallest network?

(A) WAN (8) MAN

(c) LAN (D) None of the above

(xvii) STIfEe MfSAT B MHAR TR & wU H i fHar SImar § | %
(A) fixed or unfixed (B) determinate or indeterminate.
(C) guided or unguided. (D) metallic or nonmetallic.

Transmission media are usually categorized as

(A) fixed or unfixed (B) determinate or indeterminate.
(C) guided or unguided. (D) metallic or nonmetallic.

(xviil) T try-except scieh H TeRd™ except o Bl Hehd =72 %
(A) =T (B) T

(C) W & AT (D) YT & ATH

How many except statements can a try-except block have?

(A) zero (B) one

(C) more than one (D) more than zero

Q2. Ra <ot & g @i (19 x dD)
Fill in blanks (i to x )

() I search f&¥T ¥l elements &1 BIg 991, (& IR 4 T Al &
elements @1 SE &RaT © | %
...................... search checks the elements of a list, one at a time, without
skipping any elements.

(ii) Tl faRly o9 H qcdl & HUE DI YA: FIRIT B DI UIhAT Bl ...

el ST 2 | %




The process of placing or rearranging a collection of elements into a
particular order is known as ........cccceceeeeeiiiiiiinnnns

(iii) Front 3R Rear &7 SUINT .................. @1 YwIMT AT 3fd H fhar S 21 %
Front and Rear are used to indicate beginning and end of ...............

(iv) ------- U% Python object 8 ST T® error &1 T & | A

....................... is a python object that represents an error.

(v) --- - T YT BT HUE & S data base ®I STANT g maintain
IR @ oy ITANTHAT BT Fe™ q7dT & | %
A....... is a collection of programs that enables users to rate maintain and use a
database.

(vi) o=t daer # Prg faeiyar foreign key ® | If< ag foosdt og Haw=er # .............
key & %

An attribute in a relation is foreign key if it is the .............. key in any other relation.
(Vii) FTP 2168 BT 312 & oo %

The term FTP stands for .......c........ X

(viii) _ —- B3 TN Hcdd B AT 2 | %

........... isa collection of many separate networks.

(ix) VOLTE &1 312f & %
VOLTE stands for...........ccceeniiieiinniieceenen,

(x) ---- --- U% legitimate software & I Udh dR $¥clel &l
ST & TG virus @1 AR &1 &Rl ¢ | %

................ looks like a legitimate software which once installed acts like a
virus.
Q3 3 AYTRIAD U (i x Th)

Very Short answer type question (i to x)

(i) Python # ID Error Exception &4 I @1 Sl © ? 1

How to catch ID Error Exception in Python ?



(ii) Python % &7 Open( ) &1 SUANT &9 & © ? 1
When we use Open( ) methods in Python ?

(iii) Data file ¥ Data @ Bytes(n) @ fAf<s S @ ded & forv fhd waRE &
STINT b S & | 1

Which Method is used to read a specified numbers of bytes(n) of data from a data file.

(iv) fp<ar werm & o=l @ Hars AL § O T3 ® [90, 120, 110, 115, 85, 90, 100,

110, 110] BTH & TS BT AT AT HIET ST BT | 1
Assume that height (in cm) of Students in a class are as follows [90, 120, 110, 115,
85, 90, 100, 110, 110]. Find Mean or average height of the Class.

(v) Database schema &1 87 1
What is Database schema?

(vi) SQL § 89 update statement @I YIITT &d Hxd & ? 1
When we use Update statement in SQL ?

(vii) Computer network @ ®ls gia T feIfRav | 1
Write any five components of computer network.

(viii) Transmission Media T &IaT 8 ? 1

What is transmission Media?

(xi) Python exception handling ¥ except l® & IgaTT T B7 1
What is the purpose of the except block in Python exception handling?
(x) ST T Bl 34175[% EI%)[Range RT B? 1

What is the range of Frequency for radio waves?

TUs — (9)
SECTION -(B)
AYTRTHD T
Short answer type question
Q4 = foRd HA (a) T (b) § o7 <R B ? 1.5

(a) p = open("Practice. txt", "r")



p. read (0)

(b) With open("Practice. txt", "r") as p:

X = p.read( ).

What is the difference between the following set of statements (a) and (b) ?

(a) p = open("Practice. txt", "r")

p. read (0)

(b) With open("Practice. txt", "r") as p:

x = p.read( ).

Q5 Stack W &Y ST Fehel aTel giIATET Sfuverd a7 87 1.5

What are the basic operations that can be performed on the stack?

Q6 Queue Deque ST TI3U ¥ THR ¥ SR ST TI3U ¥ 3fT & 2 1.5

How is queue deque data type different from deque data type?
Q7 U& foRe &1 3aRIE! HH H HHdg B & foly 99a1 dic YaniRed ford | 1.5

Write a bubble sort algorithm to sort a list in descending order.

Q8 Collision @1 87 1.5
What is collision?

Q9 Structured data 31¥ unstructured data # 3T<% fo1fRau | 1.5
Differentiate between Structured data and unstructured data.

Q10 % 9wre & A1 T &f aA ((ifeassd #) 34, 34, 27, 28, 27, 34, 34 faar rar €| 34
a1 standard deviation id BIfS | 1.5
Consider the temperature (in Celsius) of 7days of a week as 34, 34, 27, 28, 27, 34, 34. Find the
standard deviation temperature.

Q11 Single Row Function 3R Aggregate Function H B3 a1 R forlay | 1.5
Write any two differences between Single Row Function and Aggregate Function.

Q12 f&a I SQL Statement &1 3m3eye Ry | 1.5
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")

Write the output produced by the following SQL Statement.

(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")

Q13 Dos 3R DDos 31c® # ¥ forfRau | 1.5

Differentiate between Dos and DDoS attack.
gre — (9)

SECTION -(C)
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Long answer type question

Q14. Stack BT SUIRT BRD Th R &I Rad # forgs &1 b UmA
forfiay | 3

Write A program to reverse a string using stack.

31dT / OR

((2+3)*(4/2))+2 SURIFT AMATIT BT SUIRT DHRA U | Stack data structure BT
SUIANT BY¥h BIShl & Held b oIy TR g% IROT UfhdT =gy |

((2+3)*(4/2))+2 using above Expression show step by step process for matching parentheses

using stack data structure.
Q15. Pythonﬁ Udh URITH fTRIT RTRTH ﬁ‘ﬁ"l Palindrome @ T <Tal | 3

Write a Python program to check whether the given string a palindrome or not using deque.

31dT / OR
Quene 3TN stack BT JefdT PN

Compare and contrast queue with stack.

Q16.Uh DI H YA & FHI B bl 19 STl SIrdl 2 | b UrmH ford
ST U T Dl TRIS! Y H iR B | 3

During admission in a course, the name of the students are insert. Write a program to store every

name in ascending order.

312147 / OR
i%#ﬂ Qﬂéﬂ Eﬁ Gﬂlilél h¥ ﬁ shHdg N Eﬁ %’K’selection sort algorithm%’lﬁl

Write a selections sort algorithm to sort a list in ascending order.

g — ()

SECTION -(D)
IBERCIREREG]

Essay type question



Q17 Linear Fd UIITH &1 ITANT A Y GEildhe I 8 DI &l TS List [42, -2,
32,8,7,9,42,3,8,44) H WIS | T8 PIAT Position TSR 3R BT AT 31
BT 4

Use the Linear search program to search the key with value 8 in the list having duplicate values

such as [42,-2,32,8,7,9, 42, 3, 8, 44]. What is the position returned? What does this mean?
31dT / OR

T& Num List & 7 elements © [8,-4,7,7,0,2,9] 9 Num List § 89 7 @IS & |
Linear search Algorithm P T forg |

Assume that the num List has seven elements [8, -4, 7, 7,0,2,9] so n=7. We need to search for the

key num List =7. Write The step-by-step process of using Linear search Algorithm.

0.18 DBMS & ¥R STALRUI hI U HIfoTY | 4

Describe Key Concepts of DBMS.
31e7dT /OR

Relation b oI W‘IU'T jIUﬁ CARGIE aﬁml

Describe Three important Properties of a Relation.



